
                                                                               cr `nei

An animal that is a crossbreed (mi`lk) between a dxedh dnda
and a dxedh dig is called a iek, and it’s alg is xeq`, but one does
not receive zewln for eating it, and mcd ieqik is required (ieqik
mcd is only required by a dig or ser). The m''anx (as does the
j''y) notes that no dkxa is said on the mcd ieqik (due to zekxa wtq
lwdl). This is a case of ixzqc izxz. miig ax explains that
although there is a aeig cv of mcd ieqik due to the fact that a iek
comes from a dig, and a dig is aiegn in mcd ieqik, since that same
blood also contains a xeht cv (due to its also coming from a
dnda which is mcd ieqikn xeht), we do the mcd ieqik (thus being
xikn the dig aspect) but since the aeig of mcd ieqik is not
complete, we do not make a dkxa. This is similar to zxvr ipiny
where the `xnb in dkeq zkqn (.fn) tells us that on zxvr ipiny,
opikxan `l ikexa opiazi iaezi. That while there is a aeig cv to sit in
the dkeq (because of `neic `witq), we do not make a dkxa as
there is ixzqc izxz of a separate aeh mei on which there is no aeig
to sit in the dkeq at all, zxvr ipiny (normally we make a dkxa on
a `neic `witq, a primary example being the second xcq, where
although it is performed `neic `witq oicn, all the zekxa are said
like by the first xcq). Therefore, on zxvr ipiny, while we sit on
the dkeq, no dkxa is recited.


